PHILOSOPHY HSSC-II
SECTION — A (Marks 20)

78

Time allowed: 25 Minutes

[ Version Number (18[9 5|

Note:

Section - A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not aowed. Do not use lead pencil.

Choose the correct answer A/ B / C/ D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1)

10)
11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

What does logic study?

A. Beauty B.
C. The laws of valid thought D.
Who wrote ‘Arganon’?
A. Aristotle B.
C. Whitehead D.
Who said “Logic is the key to Metaphysics™?
A Aristotle B. Descartes C.
Which knowledge is called the art of arts?
A Physics B. Chemistry C.
The word 'Logos’ is derived from:
A. English B. Latin C.
In ‘Socrates is Mortal’, ‘Socrates’ is;
A Term B. Copula C.
In “All men are mortal®, ‘Are’ is:
A Term B. Copula C.
In “All men are mortal” ‘Mortal!’ is:
A Subject B. Predicate C.
Who wrote ‘Philosophical Investigations™?
A Aristotle B.
C. Whitehead D.
Universal negative proposition is represented by:
A. A B E C.
Particular affirmative proposition is represented by:
A. A B. E C.
Which term/terms is/are distributed in ‘A’ proposition?
A Subject B.
C. Both subject and predicate D.
Which term/terms is/are distributed in ‘O’ proposition?
A Subject B.
C. Both subject and predicate D.
If'0O s false ‘'E' is:
A. True B. False C.
If 'E’ is true ‘I is:
A. True B. False C.
IF ‘A’ is false 'O’ is:
A True B. False C.
In “All men are mortal

Socrates is a man

therefore Socrates is mortal”  “Men” is:
A. Major Term B. Minor Term C.
In "All men are mortal

Socrates is a man
therefore Socrates is mortal®,

A, Conclusion B. Inference C.
In “Ali men are mortal

Socrates is a man

therefore Socrates is Mortal”  “Socrates” is:
A. Major Premise B. Middle Term  C.
Which fallacy is committed in the following syllogism?
A Fallacy of Undistributed middle term B.
C. Fallacy of illicit process of major term  D.
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Behaviour

Universe

Bertrend Russel

Plato

Spinoza D. Leibnitze
Logic D. Aesthetics
Greek D. Arabic
Proposition D. Inference
Proposition D. Inference
Proposition D. Inference
Bertrend Russel

Ludvig Wittgenstein

[ D. O

[ D. o

Predicate
Neither subject nor predicate

Predicate
Neither subject not predicate

Unknown D. None of these
Unknown D. None of these
Unknown D. None of these

Middle Term D. Minor Premise

“All men are mortal” is;

Minor Premise D. Major Premise

Major Term D. Minor Term
H—=>11
Fallacy of illicit process of Minor Term

Existential Fallacy



VersionNo.| 1 [ 8 | 9 | 5 (20,4 F )51 o 22425

~e e sbifed ug»fg,s’_q/)_mﬁﬂ}(’téfg}'&.w@‘% L1 3 S8 OMR)TETS e Lozl e i1 3o
: gL Sy

- ALi67 2.7 /% (Bubble) »5, 3 /5 AIBICID il QoL o 8, K12 (OMR) TS S e
Se b b (1

i 2 D SILSE c Y B o A
XYL @
,f o] D Festly c X B = A
5 e UL b b 3 3
Y D i c 'S - oy A
St i FL 4
fi" =W D o c v B =i A
te W e o is  Logossl (5
dr ) Jiy c & B gz S A
SRUSY) ¥ AR Y2 (6
g D . c o, B P A
?9g”ww'wdﬁuufrﬁ” 7
: B D > c e B v A
ji ?.f_g‘duw‘wduuulr(}” (8
i o D . c J B Lrr A
te i (Philosophical Investigation) w48 9
1 Jek 4 D frest c Sz B A A
:’; e C RIS LB K (10
i o D c E B A A
S b U1 el U a2 (11
| 0 D C E B A A
W Cemesol 2SN (12
S5 lrive D Uil c JF B Lo A
" Glenesodied O (13
st D Ul c S B Lt A
e BT S0 (14
AT D g c S B & A
T EES 5
AT D - o S B & A
2 e 0 S A (16
S e it D o c i B & A
e Uit e i, colilslE byl (17
',“r- N D bt o P B Al A
ST S bR ol gdiober” (18
j Sl D S c B B & A
S A i RA g bl (19
ol D s c bl B § i A
Hl—> 11 Seboswbelffbdioe (20
6Ly D o ot b c Aol el B b w8l e A

W




o

EDIATE 4
> ”0.5‘

o

o

Siamnedts

Time allowed: 2:35 Hours

S0y

PHILOSOPHY HSSC-II

7

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.
SECTION — B (Marks 50)

Q.2 a Answer any FIFTEEN parts. Be brief and to the point in your answer. (15 x 3 = 45)

Q) How would you describe a proposition?

(if) What is predicate?

(i) Write a short note on major premise.

(iv) What is conclusion?

(v) Describe language as an instrument.

(vi) Write a short note on the expressive use of language.

(vil) What is fallacy?

(vii)  How would you describe the fallacy of appeal to emotions?

(ix) How would you describe the fallacy of complex questions?

(x) What is the fallacy of equivocation?

(xi) Write a short note on the fallacy of accent.

(xit) What are universal affirmative propositions?

{xiii) Write a short note on particular negative propositions.

(xiv)  What do you know about contradiction?

(xv) Write a short note on sub-contrary?

(xvi)  Describe the faw of non-contradiction.

(xvit)  Write the second figure of syllogism.

(xviii)  Write the third figure of syllogism.

(xix)  What is the fallacy of undistributed middle term?

{xx) Write a short note on the fallacy of four terms.

(xxi)  How would you describe the existential fallacy?

b. Attempt any ONE part. {1x5=5)

(i) Write a short note on scientific generalization.

(ii) What is enumeration?

SECTION — C (Marks 30)

Note: Attempt any THREE questions. All questions carry aqual marks. (3x10 = 30) ‘
Q.3 Whatis the need and importance of language? i
Q.4  Write a detailed note on generalization. ‘
Q.5 Whatis analogy? Explain.
Q.6  What are the characteristics of a good hypothesis?
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